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Paboumne xapaKTepucTuKm
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OKTaBHble NoN0Cbl YacToT [Iu]
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yacrot [u]
k 2k 4k 8k

63 125 250 500 1k 2k 4k 8k 63 125 250 500 1
LuaHa BXOAE 78 55 72 69 75 70 66 59 50 Ly Ha BXOAE 79 53 64 75 73 71 66 61 53
Ly Ha BbIXOAE 77 56 71 66 71 70 66 60 50 Lo Ha BbIXOAE 77 5 65 73 72 63 66 60 52
Lua K OKpYy>XeHIio 57 1221 36 53 52 49 46 34 LuaK OKPYXEHIIO 53 16 13 39 48 48 45 44 34
Yenosma namepenua: 0.0401 m*/c, 480 Ma Yenosus nsmeperma: 0.0538 m?/c, 423 Ma
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AB(A) 0o6wy. OKTaBHble NoN0Cbl YacToT [u] AB(A) OKTaBHble NoN0Cbl YacToT [Mu]
63 125 250 500 1k 2k 4k 8k 63 125 250 500 1k 2k 4k 8k
L, Ha BXOAR 78 53 72 73 73 69 66 56 46 Lo Ha BXOAE 77 51 70 68 73 68 63 55 47
Lua Ha BbIXOAE 78 59 71 73 72 67 64 57 46 Lus Ha BbIXOAE 75 49 70 68 70 64 62 57 46
LWA K oKpy>keHvto 54 22 27 39 50 48 47 40 29 Luua K OKPYXKEHIIO 58 24 38 45 57 50 45 39 29

ycnosus namepenusa: 0.068 m*/c, 381 Ma Ycnosua usmepenna: 0.107 m?/c, 275 Ma

systemair
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